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—.1.160 2.6,45 3.12,4 4.7
5.500,300 6.6.12.18.24
—.7.B 8B 9.C 10.B
=.11.203 + 210 + 196 + 215 + 188
=200x5+3+10-4+15-12
= 1000 + 12
= 1012
12. 716 + 387 + 284 + 513
(716 + 284) + (387 + 513)
1000 + 900
= 1900
13.

14. (6 +4) x 2 =20Ck)

15. (9 +6) x 2 =15 x 2 = 30(43k)

M. 16. (26 + 16) x 2 + 2 = 86(JH>K ), 86 — 20 x 4 = 6(JHkK)

17. 1% 645 N, % 600 A

18. (BRI HEBIHOT T, A 20 x 5 = 100(43) , Mg 4505 L PR 43 80 25 100 -
84 = 16(43 ), MHUsE — I XTI S22 5 + 3 = 8(43), FIrLIHEE 16 -+ 8 =2
(3B, fovt 20 - 2 = 18(3E )i
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HE, 22 N A IBORZE 5 TR A F RS 11 +5=16,16 + 4 = 4, FLIZE Y
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